2017 Seventh Grade STAAR Final Review

Sample questions with each objective

Grouped by reporting category

Questions taken from 2015 7™ grade STAAR, other
previous 7 and 8" grade STAARs, TAKS, HMH
ExamView, and other assorted problems

2017: 40 total questions + research questions

Part I: Computation and Algebraic Relationships (15 STAAR questions)

Part II: Geometry and Measurement (12 STAAR questions)

Part III: Probability and Numerical Relationships (6 STAAR questions)

Part IV: Data Analysis and Personal Financial Literacy (7 STAAR questions)
STAAR Day Reminders

Sample Griddable
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Seventh Grade STAAR Name:

Category 2: Computation and Algebraic Relationships
Number of Questions: 15
Readiness Standards: 7.3b (Problems with all four operations with rational numbers)
(Will be on STAAR) 7.4a (Constant rate of change in all forms, including d =rt)
7.4d (Rates, ratios, percents, % increase, % decrease)
7.7a (Linear relationships in 4 forms, y=mx+b)
7.11a (Two-step equations and inequalities)
Supporting Standards 7.3a (All four operations with rational numbers)
(Might be on STAAR) 7.4b (Calculate unit rates)

7.4c (Constant of proportionality in real-world problems, k = X)
X

7.10a (Write one- and two-step equations and inequalities)

7.10b (Represent one-/two-step equations/inequalities on number lines)
7.10c (Write real-world problems for a one-/two-step equation/inequality)
7.11b (Determine if a value makes a one-/two-step equation/inequal. true)

A recipe calls for 2% cups of flour to make a batch of cookies. How many batches
1 of cookies can be made if you have 15% cups of flour?
7.3a
6 C 8
B 7 D 372
32
Irene bought 3 yards of fabric and a spool of thread for $28.10. If the spool of
’ thread cost $1.25, how much did the fabric cost per yard?
7.3 A $895 C $26.85
B $9.37 D $28.10
The list below shows the distance Pedro jogged each day last week.
3. 23,12, 21 2,18, 26,12
7.3a 4’ 2 4
What was the total distance Pedro jogged last week?
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Roland sold candy bars for a school fund-raiser during three weeks. Some
information about Roland’s candy bar sales is provided below.
¢ Roland sold 26 candy bars the first week.
® The number of candy bars he sold during the second week was 4 less than 2
times the number of candy bars he sold during the first week.

4. ¢ The number of candy bars he sold during the third week was 6 more than
7.3 1% times the number of candy bars he sold during the second week.
What was the total number of candy bars Roland sold during the three weeks?
A 145 B 152 C 156 D 142
2015 The 17 students on the math team want to raise $483.62 to buy practice books.
STA They have already raised $218.25. If each student raises the same amount, how
AR much more money must each student raise?
7.3b
A $15.61 B $12.84 C $28.45 D $41.29
Mrs. Gutierrez bought 2 dozen cans of soda priced at 6 cans for $1.98 and 18
bottles of water priced at 6 bottles for $2.16. What is the total amount she spent, not
5 including tax, on soda and bottled water?
7-3b A $648 C $7.92
B $14.40 D $16.56
Mr. Mangham asked each of his 30 students to select their favorite radio station.
1 .
— chose station A
1 .
6. — chose station B
7.3b S
All the rest chose station C
How many students chose station C?
A 10 B 14 C 6 D 4
A 24,000 gallon pool is being filled at a rate of 40 gallons per minute. At this rate,
7. how many minutes will it take to fill this pool 3 full?
7.3b 4

A 450 min. B 560 min. C 600 min. D 150 min.

Created by Lance Mangham, 6™ grade math

, Carroll ISD



Mrs. Rodriguez will make name tags for each of the 45 choir members and 30
orchestra members. The materials for each name tag cost $0.44. What is the total
cost of the materials Mrs. Rodriguez will use to make these name tags?

8.
7-3b A $33.00 C $75.00
B $58.20 D $49.80
At a restaurant, 42 people had breakfast on Saturday morning.
1
° Pl of the people ate eggs only.
. % of the people ate both pancakes and eggs.
9.
73b ¢ The remaining people ate pancakes only.
What fraction represents the number of people who ate pancakes only?
P e A )
21 21 21 42
Karen had 2 spools of wire. Each spool had 15% yards of wire. Karen used 3
yards of wire from each spool. How many yards of wire were left on the spools?
A 41E yards, because (151— 2} e3= 41é
10 8 8 8
7.3b B 10—~ yards, because [ 15202 |=3=10-—
12 8 12
C 25E yards, because (151— 3) o) = 25§
4 8 4
D 10E yards, because 151+2 +3= 10E
16 8 16
Andrew plays on a basketball team. In two games he scored % of the total number
11 of points his team scored. His team scored 55 points in the first game and 35 points
” 3i) in the second game. What was the number of points Andrew scored in these two

games?

A 18 B 20 C 36 D 90
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Jake has two summer jobs. The table below shows how many hours he worked at
the two jobs last week and his total earnings from each.

Tob Hours Worked Total Amount
Last Week Earned Last Week
12 Cashier 9 $81.00
73b Grocery Stacker 12 $129.00
This week Jake is scheduled to work 11 hours as a cashier and 17 hours as a
grocery stocker. Based on the information in the table, what will be the total
amount he earns from the two jobs if he works all the scheduled hours this week?
A $281.75 $252.00 C $271.25 D $280.00
Frank and his family drove 6 hours every day during a road trip. Which graph
represents y, the total number of hours driven in x days?
Road Trip Road Trip
32 32
28 28
24 24
20 20
16 16
12 12
8 8
2015 g g
STA 0 1 2 3 4 0 1 2 3 4
AR | A C
7.4.a
Road Trip Road Trip
32 32
28 28
24 24
20 20
16 16
12 12
8 8
4 4
0 0
0 1 2 3 4 0 1 2 3 4
B D
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Dominic used the equation below to find d, the amount in dollars he would spend
on gasoline to drive a distance of m miles.
m
d=—(@35
13. 25 3-5)
7.4a
Based on the equation, how much would Dominic spend on gasoline to drive a
distance of 180 miles?
A $25.20 B $21.00 C $24.50 D $28.00
The function y =30x describes how far from home Jose is as he drives from San
Francisco to Kansas City. Graph the function. Use the graph to estimate how far
from home Jose is in 12 hours.
A 2000 --y C 100 --y
1800 4- 90 +
1600 1 80 +
1400 4- 70 4+
01200 + g 60+
5] =]
E 1000 4 S50l
800 4 40 4
600 4 30 4+
400 + 20 4+
200 + 10 +
48 12 16 20 24 28 32 36 40 « 1020 30 40 50 60 70 80 90 100 x
Hours Hours
14. . . . . . .
Jose is about 360 miles from home in Jose is about 12 miles from home in
7.4a
12 hours. 12 hours.
B sol” D sol”
70 1~ 70 4+
60 1- 60 4
2 50 1~ 8 50 +
S0l =
30 30 4
20 4 20 +
10 4 10 +
48 12 16 20 24 28 32 36 40 « 36 9 12 15 18 21 24 27 30 «
Hours Hours
Jose is about 30 miles from home in Jose is about 42 miles from home in
12 hours.. 12 hours.
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The graph shows the distance a boat is traveling over time. Does the boat travel at a
constant or variable speed? How fast is the boat traveling?

E
15. £
7.4a 2
T lI T ; T 3I T 4I> T 5I 7
Time (h)
A constant speed; 17.5 mi/h C constant speed; 35 mi/h
B constant speed; 70 mi/h D variable speed; 70 mi/h
A car moving at a constant speed travels 78 feet in 2 seconds. How many feet will it
travel in 60 seconds?
16.
7.4a A 136f C 4680 ft
B 2340 ft D 9360 ft
17. | A recipe that makes 18 cookies calls for % cup of sugar. How much sugar is
7.4b
needed to make 2 dozen cookies using this recipe?
A can of juice contains 175 calories per 2.5 servings. Which of the following is
18 NOT an equivalent number of calories per serving?
7.4b A 280 calories per 4 servings C 525 calories per 8 servings
B 910 calories per 13 servings D 630 calories per 9 servings
oo 2
A carpenter lays 16 square feet of tile in 3 of an hour. How many square feet of
tile does the carpenter lay per hour?
19.
7.4b A 24 square feet per hour C 32 square feet per hour
2 1
B 165 square feet per hour D o sqaure feet per hour
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2015 | The cost of 3 pounds of grapes is $6.57. What is the constant of proportionality
STA | that relates the cost in dollars, y, to the number of pounds of grapes, x?
AR
7.4c A 6.57 B 3 C 2.19 D Not here
The data set below represents a direct variation. Identify the constant of
proportionality.
x | 1| 23] 4]5]|6]|7
9 27 45 63
— 9 | — | 18 | — | 27 | —
20. 2 2 2 2
7.4c
A 2 C 9
9 2
B 9 D 2
Tell whether the relationship is a proportional relationship. If so, give the constant
of proportionality.
50 |-
40
30
(2]
g
@
20
21.
7.4c¢ 10
1 2 3 4 5 6 «x
Hours
A The relationship is proportional. The constant of proportionality is 2.5.
B The relationship is proportional. The constant of proportionality is 5.
C The relationship is proportional. The constant of proportionality is 20.
D The relationship is not proportional.
2015 | Amanda increased the amount of protein she eats every day from 48 g to 54 g. By
STA | what percentage did Amanda increase the amount of protein she eats?
AR
7.4d A 11.1% B 88.9% C 112.5% D 12.5%
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There were 25 questions on the science test. Here were the number correct for 5
students:
Fred 21, Wilma 23, Barney 22, Betty 19, Bamm-Bamm 20

72‘2‘;1 Which students earned a score above 85%?
A Fred, Wilma, Barney
B Wilma, Barney
C Barney, Bamm-Bamm
D Fred, Wilma, Betty
23 A watch cost $75.99. If the sales tax rate is 6.25%, what is the amount of sales tax?
7.4d
A 5048 B $2.19 C $4.75 D $474.94
If the price of gold went from $460 an ounce to $483 an ounce in one week, what
24 was the percent change in the price of gold?
7.4d A 4.8% increase C 5% increase
B 4.8% decrease D 5% decrease
Find the percent of change when 40 is increased to 83. If necessary, round your
25 answer to the nearest tenth.
7.4d .
A 107.5% increase C 51.8% decrease
B 107.5% decrease D 51.8% increase
It is estimated that 20.4% of the US population in the year 2050 will be over the age
of 65. Which number is NOT equivalent to 20.4%?
26.
7.4d 204 C 20.4
1000 100
B 0.204 D 2.04
A generator can run for 11 hours on 3 gallons of gasoline. If gasoline costs $3 per
27. | gallon, which is closest to the cost per hour to run the generator?
7.4d
A $9.00 B $33.00 C $0.82 D $1.22
Bradley answered 80% of the questions on his science test correctly. There were 30
29. . . .
7.4d questions on the test, and all of the questions had equal value. How many questions
) did Bradley NOT answer correctly on his test?
Yash worked out at a gym for 2 hours. His workout consisted of stretching for 21
30 minutes, jogging for 45 minutes, and lifting weights for the remaining amount of
7 4;1 time. What percentage of Yash’s workout was spent lifting weights?

A 55% B 45% C 66% D 54%

Created by Lance Mangham, 6™ grade math

, Carroll ISD



Mr. Nelson sold 147 bags of popcorn and 216 bottles of water in 3 days. At this
rate, how many more bottles of water than bags of popcorn will Mr. Nelson sell in 5

31.
17
7.4d |48
A 84 B 69 C 115 D Not here
Every 2 days a scientist spends 1.25 hours observing dolphins and 3.5 hours
observing sea lions. At this rate, how many total hours will the scientist spend
32. . . ..
7.4d observing dolphins and sea lions in 6 days?
A 28.5h B 1425h C 95h D 235h
Xavier plans to run 14 laps around the track. Each lap is 400 yards. So far Xavier
33 has run 1,680 yards around the track. What percentage of the run has Xavier
. ?
7 4d completed?
A 7% B 30% C 70% D 3%
Marcella bought a 25-ounce bottle of olive oil for $5.88. She used 60% of the olive
34. | oil in two weeks. Which of the following is closest to the cost of the oil she used?
7.4d
A $0.24 B $0.39 C $2.35 D $3.53
Jessica skated 4 laps in 82 seconds. Which of the following in an equivalent rate of
ing?
35, skating?
7.4d . .
A 6 lapsin 120 seconds C 10 laps in 205 seconds
B 6 laps in 130 seconds D 10 laps in 215 seconds
Which equation represents the relationship between the x-values and the y-values in
the table?
X Y
0 4
2015 D) 16
STA 4 28
AR 6 40
7.7.a 10 64
A y=2x+12 C y=2x+4
B y=4x+6 D y=6x+4
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Which table represents the linear relationship y=5x+67?

A C
36 x| 112 ]13]4]5 x| 1 | 213|415
770 y | 718119 |10 11 y [ 111213 | 14 | 15
B D
x | 1 | 213 |4]5 x| 112 ]13]4]5
y | 5 [10]15]20 | 25 y [ 11]16 |21 ] 26 | 31
Mrs. Jacobs is a photographer. For each job she charges $135 for the first hour she
works and $100 for each additional hour. Which linear equation below could be
17 used to represent 7, the total of Mrs. Jacobs’ earnings?
7.7a A t=1351+100 C  +=100A+135
B t=(0135+100)h D +t=100hn+235
An electrician charges customers based on the table below.
Charge ($) 75 135 195 255 315
Time (hr) 0 1 2 3 4
38.
772 | Which of the following linear equations represents this relationship?
A y=75x C y=75x+60
B y=75x+315 D y=60x+75
Which relationship is best represented by the graph below?
140
120
100
80
60
39. 20
7.7a
20
0
0 0.2 0.4 0.6 0.8 1 1.2

The number of seconds, x, in y hours
The number of hours, x, in y seconds
The number of gallons, x, in y fluid ounces
The number of fluid ounces, x, in y gallons
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The graph models the value of a machine over a 8-year period.

Value of a Machine

9
8
z7
S 6
35
c 4
%3
40. 3,
7.7a
1
0
0 2 4 6 8 10
Age of Machine
Which equation best represents the relationship between x, the age of the machine
in years, and y, the value of the machine in dollars over this 8-year period?
A y=-0.002x+2500 C y=-500x+8000
B y=500x+8000 D y=0.002x+2500
Sal purchased some art supplies and card stock in order to make greeting cards.
The graph below shows the relationship between the number of cards Sal makes
and the total cost of the materials used to make the cards.
Cost of Making Greeting Cards
9
8
7
e (7.6)
41, g, (34)
7.7a E ;
2
1
0

o
[y
N
w

4 5 6 7 8 9 10 11 12
Number of Cards Made

Based on the graph, what will be the total cost of making 25 greeting cards?

A $12.50 B $50.00 C $52.50 D $15.00
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42.
7.7a

John is having a new deck built. He paid $485 for the required materials, and he
will pay his brother $25 an hour to build the deck. Which table shows the
relationship between £, the number of hours John’s brother works, and c, the total
cost of the project?
A C
h c h c
0 485 0 485
3 510 3 560
8 535 8 685
12 560 12 785
B D
h c h c
0 510 0 510
3 535 3 585
8 560 8 710
12 585 12 810
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Which graph represents the equation y=1.4x+27?

A B
10 9
9 8
8 7
7
6
4 5
7 4
4
3 3
2 2
1 1
-7 -6-5-4-3-27% 1234567 76 -54-3-2= 1234567
_3 _3
-4
5 ‘51
-6
-7 6
-8 7
-9 8
43. 10 9
7.7a
C D
10 10
9 9
8 8
7 7
6 6
> 5
4 4
3
b 3
/ )
1
o]

-—

O A 1234567

Ot U o rors P

You are planning a skating party at a rink that charges a basic fee of $6.00 and
$6.50 per person for catered parties. You don't want to spend more than $71.00.
44. | Write and solve an inequality to find the number of friends you can invite.
7.10a
A dix+6<7x<10 C dix+6=27Tl,x=10
B aisx+6=T1.x=10 D dasx+d=7.x=10

Your middle school is having a carnival. Admission into the carnival is $8, and
each game inside the carnival costs $0.50. Which of the following inequalities

45. represents the possible number of games £ that can be played with $20?

7.10a
A 8g+0.50<20 C 0.50g+8<20

B 8g+0.50=20 D 0.50g+8=20
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Tyson and his friends go ice-skating. Tyson must pay an initial fee of $18.30 plus
$4.80 per hour. Write an equation for the cost ¢ Tyson must pay after skating for &
hours. Solve the equation to find the cost to go ice-skating for 4 hours. Write your

46. answer as an ordered pair.
7.10a
A c=1830+4.380k; (4, 37.50) C c=4380+1830k; (4, 78.00)
B c=1830+4.380+%; (4,27.10) D 4 20

c= 18304+ —
k. (4,19.50)

Which number line represents the solution to the inequality —7x—13>8?

A ——e | |

v

2015 1 &< r-rrrrre. ..
STA -5 -4 -3 -2 -1 0 +1 +2 43 +4 +5
AR
7.10b C -t T
-5 -4 -3 -2 -1 0 +1 42 +3 +4 +5
«— | =
D -5 -4 -3 -2 -1 0 +1 +2 +3 +4 +5

Write an inequality that represents the graph below if the endpoint is moved 5 units
to the left.

T T T T T T T T T T
47 01 2 3 456 7 8 9101112131415 16 17 18 19 20 21 22 23 24 25

7.10b A s 5

Which of the following graphs describes the solution set of —%x —% >-97?

A Z o
E——t—r—+—+—9 +—
—12-8 -4 0 4 8 12
48. B o .
T - T T T T T ,
7.10b 12-8 -4 0 4 8 12
C AN
ettt ———)
—12-8 -4 0 4 8 12
D

/N
E J

N

128 -4 0 4 8 12
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49.
7.10c

Which problem situation matches the equation below?
15x=120

A Chang collected 120 foreign postage stamps last year. He gave 15% of them to
friends. What is x, the number of stamps Chang did not give away?

B Cece exercised 120 minutes each day for 15 days last month. What is x, the
total number of hours Cece exercised last month?

C Demetria drove a total of 120 miles this week. She drove 15 miles more this
week than she drove last week. What is x, the number of miles Demetria drove
last week?

D Adam charges $15 per hour for labor to repair lawn mowers. What is x, the
number of hours Adam worked if he charged $120 for labor?

50.
7.10c

Which situation is best represented by the equation below?
7=127-5b

A Of the 127 people attending the rugby game, 5 were at the concession stand, b
were seated, and 7 were standing up and cheering. What is b, the number of
attendees who were seated?

B There were 7 players left over after 127 rugby players in a league were divided
into 5 teams with b players on each team. What is b, the number of players on each
team?

C There were 5 players left over after 127 rugby players in a league were divided
into 7 teams with b players on each team. What is b, the number of players of each
team?

D Of b people attending a rugby game, there were 7 people at the concession
stand, 127 people who were seated, and 5 people who were standing up and
cheering. What is b, the number of people attending the game?

51.
7.10c

Write a situation for the relationship y—2x-5.

A Filo earns $2 per hour but then buys lunch for $5. How much money does he
have left?

B At the mall, Pena buys 2 CDs and spends $5 on lunch. How much money does
she have left?

C Filo’s allowance is twice Rachel’s allowance less than $5. What is Filo’s
allowance?

D Marcus works out at the gym for half as many minutes as he spends eating
lunch minus 5 minutes. How long does Marcus work out at the gym?
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Which real-world problem is best represented by the equation 7129

A Susan has a stamp collection. She gives 9 stamps to her brother and puts the
remaining stamps into 5 books. There are 12 stamps in each book. How many
stamps were in Susan’s original collection?

52.
710c | B A jeweler is shipping 5 identical orders. He divides the orders into 5 boxes. In
) all, he uses 9 ounces of packing material. Each box weighs 12 ounces
excluding the weight of the packing material. How much is the total weight of
the jewelry?
C Thomas worked 5 hours last week. He earned a $12 an hour and a bonus of $9.
How much did he earn per hour?
D None of these problems are represented well by the given equation.
The model represents an equation. -
] L OO .
2015 [] _ L]
018 0 - 000 5
AR [ 0 g0 _
7.11a HER |:| 1
What vaule of x makes the equation true?
A 3 B 8 C 6 D 4
The equation Sw+3=4w+9 is modeled below.
O O-
53. ; Q
What value of w makes this equation true?
Leonard has t tickets for the rides at a county fair. He kept 9 of the tickets and gave
an equal number of remaining tickets to 6 of his friends. There were no tickets left
over. Which equation can be used to find f, the number of tickets Leonard gave to
each of his friends?
54.
7.11a A f t 9 c o5 t 9
=—+4 —_— =
6 6
t+9 =9
B = D =7
/ 6 / 6
Ralph is an electrician. He charges an initial fee of $24, plus $33 per hour. If Ralph
55, | carned $189 on a job, how long did the job take?
7.11a A 4 hours C 5 hours
B 132 hours D 6.5 hours
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What is a correct method of solving the equation %— 6=9 for x?

A First subtract 6 from both sides of the equation, and then divide both sides of

the equation by 3.
56. B First add 6 to both sides of the equation, and then divide both sides of the

7.11a equation by 3.

C First subtract 6 from both sides of the equation, and then multiply both sides of
the equation by 3.

D First add 6 to both sides of the equation, and then multiply both sides of the
equation by 3.

Larry has $389.00. A DVD player costs $97.00, and he can purchase used movies
for $11.55 each. What is the greatest number of movies Larry can buy if he also
57. | buys a DVD player?

7.11a A at most 26 C at most 25
B at most 34 D at most 43
Which equation is true when the value of x is —127?
2015 1
STA A §x+22:20 C 11-2x=17
AR
7.11b |
B 15—§x=21 D 3x-19=-17
58 Which is a solution for the equation 3n+13=737?
Lo A n=20 B n=56 C n=12 D n=36
59 Which number is a solution of 7n+9=-57?
7.11.b

A 2 B 3 cC 2 D 3
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Category 3: Geometry and Measurement

Number of Questions: 12
Readiness Standards: 7.5¢ (Problems with similar shape and scale drawings)
(Will be on STAAR) 7.9a (Solve for volume of prisms and pyramids)

7.9b (Determine circumference and area of circles)
7.9¢ (Determine the area of composite shapes)

Supporting Standards: 7.4e (Convert between measurement systems)
(Might be on STAAR) 7.5a (Attributes of similarity, including ratios of similar shapes)
7.5b (Describe 7 as the ratio of the circumference to the diameter)

7.9d (Lateral/total surface area of pyramid or prism’s net)

7.11c (Geometry equations such as sum of angles and angle relationships)

2015 | Teri ran 8 kilometers. One mile is approxiamtely equal to 1.6 kilometers. Which
STA | measurement is closest to the number of miles Teri ran?
AR
7.4e A Smi B 12.8 mi C 6.4 mi D 9.6 mi
Abdul is 5 feet tall. Which equation can be used to determine /2, Abdul’s height in
centimeters, if 1 inch is equal to 2.54 centimeters?
1.
7 de A h=254(5) C h=2.54(5)12)
1 1
h=——(5)12 D h=——(5
2.54 ©)12) 2.54 ©)
Heather’s desk is 3 feet long. About how long is it in meters? 1 foot = 0.305 meters
2.
7.4e A 0.00915 meters C 0.915 meters
B 0.9015 meters D 9.15 meters
Joan mails a package that weighs 140 grams. About how many ounces is the
3 package? 1 ounce = 28.4 grams
7de A 0.2 ounces C 168.4 ounces
B 4.9 ounces D 403.3 ounces
A printing company makes plastic banners 15 feet long by 6 feet wide. An overseas
customer wants to know about how many square meters the banner is.
1 foot = 0.305 meters
4.
7.4e 8.37 square meters

27.5 square meters
90.0 square meters
900 square meters
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Similar shapes: Corresponding angles are congruent, Corresponding sides are
proportional

S.
7.5a Congruent shapes: Corresponding angles are congruent, Corresponding sides
are congruent
Janelle drew KL in isosceles trapezoid FGHIJ to create similar trapezoids FKLJ and
KGHL.
G 3cm H
GK =5 C[/_\
K L
9 cm
6. LI=ycm
7.5a
F J
w
Based on the given information, what are the values of y and w in centimeters?
A y=Illcmandw=15cm C y=1lcmand w=27cm
B y=I15cmandw=15cm D y=15cmandw=27cm
If the corresponding angles of 2 polygons are congruent and the lengths of the
7 corresponding sides of the polygons are proportional, the polygons are —
7.5a A rectangular C congruent
B symmetric D similar
Which of these best describes 7 ?
2015
STA A The square root of the area of a circle.
AR B The ratio of the radius of the circle to its diameter.
7.5b C The radius of a circle times 3.14.
D The ratio of the circumference of a circle to its diameter.
A circle has a circumference of 75.36 yards. What is its diameter? Use 3.14 for x
and round to the nearest yard.
i A 12yard
7.5b yares
B 24 yards
C 237 yards
D 473 yards
Find the circumference of a circle that has a radius of 7 cm. Use 3.14 for 7.
10.
7.5b A 2198 cm C 11474 cm
B 43.96 cm D 153.86cm
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2015 In the scale used on a blueprint, i inch represents 2 feet. On the blueprint what is
STA | the length of a room with an actual length of 20 feet?
AR
T3¢ A 10in B 5in C %in D 2% in
Jessica has a rectangular picture. The picture is similar to a rectangle that measures
1 4 inches by 6 inches. What could be the dimensions of Jessica’s picture?
7.3¢ A 8inby 10in C 2inby3in
B S5inby7in D 12inby 14in
Triangle AED and triangle ACB are similar.
A
D [ E
12.
7.5¢ B / (e
Which equation must be true?
CB_ca ¢ CA_cB
ED FEA BD CE
BA_EA b CB_ED
DA ED BA FEA
The bases of the two similar triangular prisms shown below are equilateral triangles.
2.8 cm 11.2 cm
13.
7.5¢
7 cm X
What is the value of x, the edge length of the larger prism in centimeters?
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A group decides to go white-water rafting on a river. The map they have of the river
has the scale 3 inches:7 miles. On the map, the distance between the start point and
14. | the end point of their trip is 15 inches. What is the actual distance?
7.5¢
A 49 mi C 233 mi
B 6.43 mi D 35mi
What are the actual dimensions of the study area?
FLOOR PLAN OF LIBRARY
: 2 cml # 3 cm_l
4cm S;“d;"' Books
15. rea
7.5¢ 7 cm
Check-out
Area
Scale: 1cm:5m
A 5S5mx3m C 10mx20m
B 35mx20m D 2mx7m
The blueprint shows the layout of an enclosure for horses. Every 4 centimeters in the
blueprint represents 7 meters of the actual enclosure. To the nearest whole number,
what is the area of the enclosure?
28 cm
16.
7.5¢ 12cm
A 336 cm? C 588m?
B 110 m? D 1,029 m?
Triangle ABC is similar to triangle DEF. What is the value of *?
D
A
7.5¢ B 8 c E 2x F
15 B 4 C 6z D 13—
16
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What is the volume of the triangular prism shown below?

2015
STA
AR
7.9a
A 132cm’ C 288 cm?
B 144 cm? D Not here
18 A DVD player is in the shape of a rectangular prism. It has a length of 17 inches, a
7 9;1 width of 10.2 inches, and a height of 2 inches. What is the volume of the DVD
’ player in cubic inches?
A clear file box shaped like a rectangular prism is modeled below. The shaded part
represents one base of the box.
11in
4 in
19. 19 in
7.9a

A formula for finding the volume of a rectangular prism is V = Bh. Which equation
can be used to find V, the volume of the box in cubic inches?

A V= %(19)(4)(1 ) C v=019+4)11

B V=(019)4)1]) D V=2(19)+2(4)

The dimensions of a solid block of cheese in
the shape of a triangular prism are shown.

Which of these is the best estimate of the
volume of the block of cheese in cubic

20. | centimeters?
7.9a 6.9 cm
A 175cm’ C 350cm’
B 270 cm?® D 135cm’
5.1 cm
21. | A crate is shaped like a rectangular prism. The crate is 1.2 feet wide, 3 feet long,
7.9a | and 4.5 feet tall. What is the volume of the crate in cubic feet?
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Trent used the expression below to find the volume, in cubic centimeters, of a
square pyramid.

1.2
;12904

Which square pyramid has a volume equal to the value of the expression Trent
wrote?

A ‘ C 14 cm

23.
7.9a
14 cm 12 cm 12 cm
B D
‘ ;12 cm
12 em 14 cm 14 cm
The diagram below shows the radius of the circular opening of a drinking cup.
S 4cm
2015
STA
AR
7.9b
Which of the following is closest to the circumference of the opening in
centimeters?
A 12cm B 50 cm C 25cm D 8cm
The park modeled below consists of a rectangular area and 2 semicircular areas.
The area of the rectangular part of the park is 60,000 square yards.
— 300yd —
22.
7.9b

Which of the following is closest to the distance along the perimeter of this park?

A 628yd B 914yd C 185%6yd D 1228yd
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A cylindrical pan has the dimensions shown below.

I

24.
7.9b ;
7 1n
Which equation best represents the area of the base on this pan in square inches?
1 : 2
A A=rx 35 C A=71'(7)
3
B A=2x(7) D A=nx ZZ 14
A hatbox in the shape of a cylinder is modeled below. The diameter of the cylinder
is 24 inches. The height of the cylinder is 8 inches.
25.
7.9b

[ ]
24 1in

Which expression can be used to determine A, the area of the base of this hatbox in
square inches?

A 24’z C 12z
B §%el2 D 123
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This model of the backboard of a basketball goal is composed of a rectangle and a
semicircle. Use a ruler to measure the dimensions of the model to the nearest half
inch.
2015
STA
AR
7.9¢
A 18.56 in? B 31.12in? C 12.28 in? D 23.56 in?
One of the tokens for a board game is a circle containing 5 —— 6cm —
congruent triangles, as modeled below.
Which measurement is closest to the area in
26. . 1 cm
square centimeters of the token not covered by the
7.9¢ !
triangles?
A 25cm’ C 2827 cm’
B 110.6 cm? D 25.76 cm?
What is the area of the composite figure shown? 12 ft
A 140 ¢ 14 f
B 168 ft?
27. | ¢ 308 112
7.9¢ 2 [
D 476 ft L 1o+t 13 ft
11 ft
=
31 ft
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What is the area of the polygon?

28. | A 102 ft?
7.9¢ |B 187 ft
C 289 ft
D 391 f¢
Find the area of the figure. Use 3.14 for . Round your answer to the nearest tenth.
30 m
29. 15m
7.9¢ E
A 450 m? C 176.6 m*
B 5383 m? D 626.6 m?
The net of a square pyramid is shown in the diagram.
2015
STA
AR 9in
Q
What is the total surface area of the square pyramid in square inches?
The net of a rectangular prism is shown.
Which of the following is closest to the total
surface area of this prism?
30. 75
79d | A 80.6cm? C 983 cm? < cm
B 1224 cm? D 88.8cm’
29 cm 2.8 cm
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An aquarium has the dimensions shown in the 2 ft

net. What is the surface area of the aquarium? st
3t 3ft 21t
A 27 ft C 45ft
31, |B 285ft D 57ft
7.9d 45 ft
3ft
21t
The net of a square pyramid is shown. Find the surface area of the pyramid.
1 2 ¥
N
5
32.
7.9d
1 1 5 9
A —yd’ B —yd® C —yd’ D — yd
g ” 5 16 16
The measure of two angles in a triangle are shown in the diagram.
2015
STA
7Alll{ Which equation can be used to find the value of x?
dlc
A 48+2x=180 C 2(48)+x=180
B 48+2x=360 D 2(48)+x=360
Find the measure of <r. (The figure may not be drawn to scale.)
33.
7.11c
52
A 38° B 128° C 44° D 104°
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Find the values of x and y.

34.
7.11c
A x=55y= 115 C x=45y= 135
B x=diy= 135 D x=55y= 125
In the figure below, ZBFC and ZCFD are complementary Ao 5
angles. If mZAFBis 6° less than mZDFE , what ismZAFB
?
35. A 930 F c
7.11c
B 87°
C 48°
D 42°
Ee® b

The length of a rectangle is 99 centimeters. Find all possible values for the width of
36. | the rectangle if the perimeter is at least 240 centimeters.
7.11c

A w=2lcm B w=141cm C wz2lcm D w=z=141 cm
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Category 1:
Number of Questions:

Readiness Standards:

Probability and Numerical Relationships
6

7.6h (Making predictions and comparisons from simple experiments)

(Will be on STAAR) 7.61 (Experimental/theoretical probabilities of simple/compound events)
Supporting Standards: 7.2a (Describe relationships between sets of rational numbers)
(Might be on STAAR) 7.6a (Use lists/tree diagrams to represent sample spaces of events)
7.6¢c (Make predictions/determine solutions using experimental data)
7.6d (Make predictions/determine solutions using theoretical probability)
7.6e (Find the probabilities of a simple event and its complement)
Rational numbers
Integers
s,
1.
7.2a

positives.

Irrational numbers: Decimals that don’t terminate or repeat, non-integer square roots

Rational numbers: All numbers that are not irrational (includes negative, positive, fractions,
percentages, repeating or terminating decimals)

Integers: A subset of rational numbers. Counting line numbers both positive, negative, and 0
Whole Numbers: A subset of integers. Counting line numbers starting with 0 and including only

Natural Numbers: All whole numbers except for 0.

A
2015
STA
AR
72.a |B

Which Venn diagram correctly describes the relationship between whole numbers
and integers?

Whole
Numbers

Whole
Numbers

Whole

Numbers
Integers

Integers

Integers
Integers

Created by Lance Mangham, 6™ grade math, Carroll ISD



There are 3 red marbles, 3 blue marbles, and 1 green marble in a bag. A marble is
drawn at random and not replaced. Then a second marble is drawn.

Which choice shows all the possible outcomes?

726.a A red/blue, red/green, blue/red, blue/green, green/red, green/blue
: B red/red, red/blue, red/green, blue/red, blue/blue, blue/green, green/red,
green/blue, green/green
C red/blue, red/green, blue/red, blue/green, green/red, green/green
D red/red, red/blue, red/green, blue/red, blue/blue, blue/green, green/red,
green/blue
The arrow on each spinner shown below will be spun one time.
Blue Green
k 4
Which of the following diagrams shows all the possible outcomes when each arrow
is spun once?
1 1 1 1
1 2 2 2 2 4 2
3. 3 3 3 3
7.6a 4 4 4
é ;Blue é ;Blue ;Blue é : Blue
Green Green Green Green
C 1 Blue 2 Blue 3 ~C Blue 4 Blue
Green Green Green Green
D 1 Blue 2 Green 3 Blue 4 Green
Blue Green Blue Green
Daniel made 6 out of 15 free throw shots. About how many out of the next 10 free
4. throw shots would you expect him to make?
7.6¢

A 2 B 3 C 4 D 5
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Kia’s experimental probability of striking out at baseball is 13%. Out of 30 times at

5. bat, about how many times will she strike out?
7.6¢
A 4 B 9 C 12 D 18
Based on a sample survey, a company claims that 75% of their customers are
6 satisfied with their products. Out of 1,176 customers, how many would you predict
: to be satisfied?
7.6¢
A 732 B 682 C 782 D 882
” If you roll a number cube 72 times, how many times do you expect to roll a 6?
7.6d . . . .
A 9 times B 12 times C 11 times D 10 times
Ashley predicts that 92% of the people she invites to her party will come. If she
8. wants to have at least 23 guests, how many people should she invite to her party?
7.6d
A 134 people B 21 people C 25 people D 250 people
The table shows the types of movies and the numbers of DVDs rented by customers
at a store in one day.
Type of Movie | Number of Rentals
Drama 25
Comedy 36
Family 52
Sci-Fi 12
2015 | Based on the data in the table, what is the probability that a random customer will
STA | not rent a drama?
AR
7.6.e 1 . . .3
A E because the probability of renting a drama is 1
3 o . .1
B k because the probability of renting a drama is 1
4 o . .1
C 3 because the probability of renting a drama is 3
1 e . .4
D 3’ because the probability of renting a drama is 3
At the Rockville Middle School carnival, 4 of the first 160 people who played the
ring toss game won the first prize, 8 won the second prize, and 12 won the third
9. prize. What is the experimental probability of not winning the first, second, or third
7.6e | prize?

A 024 B 0.15 C 0.86 D 0.85

Created by Lance Mangham, 6™ grade math

, Carroll ISD



A bag contains blue, green, yellow, and red marbles. The probability of drawing a

yellow marble is % . What is the probability of NOT drawing a yellow marble?

10.
7.6e
7 B 2 ¢ 17 b 3
10 20 20 80
There are 6 crayons in a box. Only one of them is gold. A crayon is selected at
1 random. Find the probability that it is not gold.
7.6e
A2 B 2 c L p L
6 3 6 2
Deborah surveyed customers in a restaurant to find out their favorite meal. The
results are shown in the table.
Meal Number of People
Hamburger and french fries 17
Spaghetti 8
Chili 12
2015 Vegetarian delight 3
STA
AR 1 one person in the restaurant will be picked at random. Based on the given
7.6.h information, which statement is true?
A The person’s favorite meal is twice as likely to be hamburger and french fries as it is to
be spaghetti.
B The person’s favorite meal is four times as likely to be chili as it is to be vegetarian
delight.
C The person’s favorite meal is more likely to be chili than hamburger and french fries.
D The person’s favorite meal is likely to be either vegetarian delight or spaghetti.
John tossed a paper cup 30 times and recorded how the cup landed each time. He
organized the results in the table shown. Based on John’s results, is the cup more
likely to land right-side up or on its side?
QOutcome Right-side up Upside down On its side
12. F 7 8 15
7.6h requency
A It is more likely the cup will land on its side.
B Itis as likely the cup will land right-side up as on its side.
C It is more likely the cup will land right-side up.
D It is impossible to determine which is more likely.
An experiment consisted of rolling a number cube, and the results are shown.
Predict the number of times the number cube will land on an even number in 400
3 rolls.
7 6h QOutcome 1 2 3 4 5 6

Frequency |24 |10 |8 3 30 |15

A 44 B 80 C 124 D 276
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Bruce took a survey of high school students to see how many had part-time jobs last
summer. The results of the survey are shown in the table. Compare the probability
that a student in the senior class had a part-time job to the probability that a student
in the junior class had a part-time job.

Grade Level Students Who Had Students
a Summer Job
14 Freshman 23 70
7 6i1 Sophomore 10 63
Junior 20 35
Senior 22 54

A A senior is more likely than a junior to have a job.

B A senior is less likely than a junior to have a job.

C A senior is just as likely as a junior to have a job.

D It is impossible to determine which one is more likely.

Mildred has a bag of coins. The bag contains 10 dimes, 5 nickels, and 1 penny. She
2015 | will randomly select 2 coins from the bag one at a time without replacement. What
STA | is the probability that Mildred will select a dime first and then a penny?

AR
7.6.1 A ﬁ B H C i D L
120 16 128 24

Harry and Hermione are playing a game with 2 number cubes. Harry gets a point
when the sum is an even number and Hermione gets a point when the sum is greater

than 7.
Sum of two number cubes
1/12]|3] 4 5 6
123 ]4] 5 6 7
23|14 |5] 6 7 8
314|516 7 8 9
15. 4 | 5|16|7]| 8 9 10
7.6i 516|789 | 10| 11
6 | 781910 11 | 12
Who is most likely to get a point on the first roll?
A Harry because 18 < 21 C Harry because 18 > ]
36 36 36 36
B They are equally likely because 18 = 18 D Hermione because 21 > 18
36 36 36 36
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Fazio is selecting a jersey. His choices are shown below.

VIR RY
VEARVERVER

16.
7.6i
Fazio chooses a jersey at random and then replaces it. He then selects a second
jersey at random. What is the probability that Fazio selects a striped jersey both
times?
L B L c L p L
100 16 25 81
A desk drawer contains the different colored markers listed below.
e 3 green markers
5 blue markers
e 10 red markers
17.
7.6i | A marker will be randomly selected from the drawer and then replaced. Then
another marker will be randomly selected from the drawer. What is the probability
that a green marker will be selected both times?
1 g L c L p L
36 6 51 54
A bag of fruit contains 3 apples, 2 oranges, 1 banana, and 4 pears. Gerald will
randomly select two pieces of fruit one at a time from the bag nd not put them back.
What is the probability that the first piece of fruit Gerald selects will be a banana
18. . . .
= 61 and the second piece of fruit will be a pear?
.61
A L B 2 c 1 p 2
25 45 2 9
The spinner below has 12 congruent sections.
Sarah will spin the arrow on the spinner
twice. What is the probability that the arrow
will land on a section labelled M on the
19. | spinner on both spins?
7.61

25 ¢ 5
144 33
9 49
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Category 4: Data Analysis and Personal Financial Literacy
Number of Questions: 6

Readiness Standards: 7.6g (Solve problems with bar graphs, dot plots, and circle graphs)
(Will be on STAAR) 7.12a (Compare data in dot plots/box plots with shape/center/spread)
Supporting Standards: 7.12b (Use data from a random sample to make inferences about a pop.)
(Might be on STAAR) 7.12c (Compare populations based on data in a random sample)

7.13a (Calculate sales and income tax)

7.13b (Components of a budget, fixed/variable expenses, calculate %s)
7.13c (Create asset and liability record and construct a net worth statement)
7.13d (Determine budget and wage to meet a family’s needs)

7.13e (Calculate and compare simple interest and compound interest)
7.13f (Compare monetary incentives like sales, rebates, and coupons)

Mr. Brown planted a vegetable garden. The circle graph shows the kinds of
vegetables he planted and the percentage of the area of the garden each kind of
vegetable occupied.

Mr. Brown's Garden

Lettuce
25%

Carrots )
2015 5% Br:;;?h
STA Cabbage

AR
7.6g

String beans
10%

Mr. Brown’s garden has an area of 160 square feet. How many square feet of Mr.
Brown’s garden is occupied by cabbage?

A 136 ft? B 24 ft C 15ft D 145 ft?
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The circle graph shows the percentages of a family budget used for different
monthly expenses.

Family Budget

Utilities
20% Mortgage
30%

Gasoline
10%

Clothes
15%

Groceries
25%

Which statement is supported by the data in the graph?

A The amount of money budgeted for utilities and gasoline combined is less than

the amount budgeted for the mortgage.
B The amount of money budgeted of the mortgage is half the amount budgeted

for clothes.
C The amount of money budgeted for groceries and clothes combined is twice the
amount budgeted for utilities.
D The amount of money budgeted for gasoline and clothes combined is greater
than the amount budgeted for groceries.
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7.6g

The graph below shows the numbers and types of coins Reina and Devin have
saved.

Coins Saved

110
100
90

80
70
60
50
40
30
20
10

0

Quarter Dime Nickel Penny

H Reina Devin

Which statement is best supported by the information in the graph?

A The combined value of all the coins Reina has saved is less than $10.

B The value of the dimes Reina has saved is greater than the value of the nickels
Devin has saved.

C The combined value of all the coins Devin has saved is less than $25.

D The value of the quarters Devin has saved is twice the value of the quarters
Reina has saved.

7.6g

Krista set up a monthly budget, as represented by the circle graph below.
Krista's Monthly Budget

Savings

Entertainment

Housing

Which conclusion is NOT supported by the circle graph?

Krista spends 50% of her income on housing and food.
Krsita spends 25% of her income of her car and utilities.
Krista spends 50% of her income on housing an utilities.
Krista spends 25% of her income on food and entertainment.

ogQwy
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Colleen is training over the summer for a triathlon. The amount of time that she
spends training daily is displayed on the dot plot shown. How many days did
Colleen spend training?

4. [ ] : [ ] : L]
7'6g t .I .i .i : ? T T : T t
0 5 10
Number of Hours
A 7 B 8 C 15 D Can not be determined
Reading from the dot plot, James says that there are 5 students who read 3 books.
What is James’ error?
X X X X
5, I 2 3 4 5 6 7 8 9 10 11 12 13 14 15
7.6g Number of Books Read
A There are more than 5 students who read 3 books.
B There are 3 students who read 5 books, not 5 students who read 3 books.
C There are twice as many students who read 3 books.
D The dot plot does not show the number of students who read 3 books.
Waldo and Freddy caught fish one weekend. The dot plots show the length of the
fish they caught.
Length of Waldo’s Fish
:
L ] L ]
[ ] L ] L ]
L ] L ] ® ®
L ] L ] L ] L] L] L]
e N L
15 16 17 18 19 20 21 22
Inches
Length of Freddy’s Fish
e
2015 R . .
STA e o o e o e o
AR < i I I I I I >
712a 15 16 17 18 19 20 21 22
Inches

Which statement about the lengths of the fish caught by Waldo and Freddy appears
to be true?

A The data for Waldo’s fish and the data for Freddy’s fish are skewed right.

B The median length of the fish caught by Waldo is greater than the median length
of the fish caught by Freddy.

C The range of the length of the fish caught by Freddy is greater than the range of
the length of the fish caught by Waldo.

D The data for Waldo’s fish and the data for Freddy’s fish are approximately
symmetrical.
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The number of students in each of 2 exercise classes was the same. The box plots
below represent the average amount of time the students in each class spent
exercising daily outside class.

First Class |—|:|:|—|
Second Class |_‘|:|:|_|

< | | | | | | | | »
~ I I I I I I I I ld

15 30 45 60 75 90 105 120

7.12a | Based on the information in the box plots, which statement about the time spent
exercising outside of class appears to be true?
A The median amount of time the first class spent exercising was greater than the
median amount of time the second class spent exercising.
B The range for the second class was less than the range for the first class.
C The interquartile range for the first class was less than the interquartile range
for the second class.
D The minimum amount of time the second class spent exercising was greater
than the minimum amount of time the first class spent exercising.
The lives of two different brands of 60-watt light bulbs are shown in the box-and-
whisker plots. Compare the medians and the ranges of the data sets.
—+¢ () o Glo-Brite
Luminate
” *—o ® ¢ o
7.12a < f f i f H— f — f —>

1
0 20 40 60 80 100 120 140 160 180 200 220

Glo-Brite has a greater median. Glo-Brite has a greater range.
The medians are equal. Luminate has a greater range.
The medians are equal. Glo-Brite has a greater range.
Glo-Brite has a greater median. Luminate has a greater range.

oaw»
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Arletta and Keenan each plan to spend at least 20 minutes per day working out. The
dot plots show the number of minutes per day each worked out for the first few

weeks.
Which of the statements about the two data sets is true?

Arletta:

N

T T
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32

7.12a
Keenan:

" 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32
A The data sets have the same median.
B The data sets have the same mean absolute deviation.
C The data sets have the same interquartile range.
D The data have the same mode.

A school counselor surveyed 90 randomly selected students about the languages
they speak. Of the students surveyed, 16 speak more than one language fluently.
9 Based on these results, how many of the 1800 students can be expected to speak

7.12b | more than one language fluently?

A 113 B 288 C 389 D 320

The director of a middle school play wants to find out how many students at the
school plan to see the play on opening night. Which sampling method is most
likely to provide valid results?

A Surveying 2 randomly chosen students from each of the 25 homeroom classes
at the school

B Surveying 50 randomly chosen students in eighth grade

C Surveying 5 randomly chosen students from each of the 10 art classes at the
school

D Surveying 10 randomly chosen students reading in the library during 5 different
lunch periods

10.
7.12b

Created by Lance Mangham, 6™ grade math, Carroll ISD



As part of a survey, 50 students were asked about their favorite lunch item. The
results are shown in the table below.

Favorite Item Number of Students
Pizza 10
Tacos 5
Hot dogs 15
Hamburgers 20

11. The cafeteria manager knows that about 300 students buy lunch from the cafeteria
7.12b | each day. Based on the table, she predicts that 60 students will buy pizza each day.
Which statement about her prediction is true?

A Her prediction is invalid because % of 50 is 10.

B Her prediction is invalid because % of 300 is 75.

C Her prediction is valid because 120% of 50 is 60.
D Her predication is valis because 20% of 300 is 60.

Three machines at a cheese factory cut the blocks of cheese before they are
wrapped. The weights of the cheeses are checked afterwards. The table below
shows the weights, in ounces, of the cheese blocks from the three machines.

Which of the following is best Cheese A B C
supported by the data in the table? 1 32 32 34

2 33 32 35

12. | A Machine B wastes the most cheese. 3 31 33 3
7.12¢ | B Machine A is the most consistent. 4 34 33 31
C Machine C is the fastest. 5 34 31 33

D Machine C is the least consistent. 6 33 33 35

7 32 32 31

8 33 32 30

9 34 33 34

10 32 32 32
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A teacher is comparing the quarter grades between two of her classes. She takes a
random sample of 8 students from each class and lists the grades as shown. Which
statement best describes the comparison between the two data sets?

Class A: 80, 83, 74,91, 76, 87, 93, 72
Class B: 90, 75, 82, 86, 73, 85, 79, 94

A The sample mean for class A is greater than the sample mean for class B, but
since the distributions of the grades have considerable overlap, it is not

7113 2.c unlikely that the mean grades for classes A and B are the same.

’ B The sample mean for class A is greater than the sample mean for class B, and
since the distributions of the grades have little overlap, it is unlikely that the
mean grades for classes A and B are the same.

C The sample mean for class A is less than the sample mean for class B, but since
the distributions of the grades have considerable overlap, it is not unlikely that
the mean grades for classes A and B are the same.

D The sample mean for class A is less than the sample mean for class B, and
since the distributions of the grades have little overlap, it is unlikely that the
mean grades for classes A and B are the same.

2015 | Cassie wants to buy a pair of shoes for $26.50 and a shirt for $9.50. If the sales tax
STA | is 8.25%, what will be the amount of sales tax on Cassie’s purchases?

AR
7.13a A $2.89 B $2.97 C $3.06 D $3.13

Sara wants to buy a necklace. The necklace has a list price of $41, and the sales tax

is 6%. What will be the cost of the necklace after tax is added? Round your answer

14. | to the nearest cent.

7.13a
A $43.46 C $2.46
B $38.54 D $54.06
Juan’s purchase before sales tax was added totaled $46.00. The total including tax
15, | Was $48.76. What was the sales tax rate?
7.13a A 2.76% C 6.0%
B 5.7% D 8.0%
Regi makes $12,000 a year and he pays 15% of his income in income tax. How
16. much money does Regi have after he has paid his income taxes?
7.13a A $1.800 C $10.200
B $13,800 D $12,015
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Maria’s monthly income is $2,000. The table displays the different categories in
Maria’s monthly budget and the amount of money she spends in each category.

Cell Other

Category Rent Utilities Cable Savings | Groceries
phone expenses

Amount
of $900 $120 $80 $100 $300 $320 $180

2015 money
STA | Which statement is not supported by the information in the table?
AR

7.13b

1 . . . .
A More than — of Maria’s monthly income is spent in rent.
B Maria puts 15% of her monthly income into savings.
1 . . . s
C More than Z of Maria’s monthly income is spent on utilities, cable, and

groceries.
D Maria spends 14% of her monthly income on her cell phone and other expenses.

What is an example of a variable expense?
17.

7.13b A Car payment C Clothing

B Emergency savings D Washer rental fee

The table represents the Martin family’s budget. Their net monthly income is
$3,900. How much does the Martin family put in savings in a year?

Category Percent
Emergency Fund |4%
Savings 10%
Housing 25%
Food 15%
Clothing 8%
Entertainment 15%
Transportation 12%
Medical costs 11%

19.
7.13b

A $120 C $2,028
B $390 D $4,680
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The table shows Gillian’s net worth. Assets are shown as positive numbers, and
liabilities are shown as negative numbers.

Net Worth
Item Value
House (current value) $87,900
Checking account $950
2015 Credit-card debt —$2,650
SI;I‘I? Automobile (current value) $10,300
7.13c¢ Student loans
Investments 5,000
Personal loans -%1,200
Savings account $2,450
Gillian’s net worth is $90,500. Based on the information in the table, what is the
amount of money Gillian owes for student loans?
A $19,950 B $12,250 C $16,100 D $86,650
What is net worth?
20 A The things you own that have a positive value.

7.13¢ | B The difference between your assets and liabilities.
C The debts you owe.
D The amount of money you earn.

Monty’s made a list of his assets and liabilities. How many liabilities are on the list?

. Rent
. Car, paid for
21. . Money in a checking account
7.13¢ . Television, paid for
. Sailboat, making payments
J Computer, paid for

A1 B 2 Cc 3 D 4
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Frankie keeps track of his net worth by making a table each month. In January, he
had 8 months left on his lease. He finished making car payments in 2009. Which of
the following statements is true about Frankie’s net worth in January 2013?
Frankie’s assests and liabilities - January 2013
Monthly rent and utilities $675.75
Value of car $2,850.00
2. Balance of savings account $1,822.23
713c Credit card balance $643.12
Value of furniture $995.00
A Frankie had a positive net worth.
B Frankie has more assets than liabilities.
C If Frankie’s credit card balance were $400 less, he would have a positive net
worth.
D If Frankie’s car were valued at $3,000, he would have a positive net worth.
A monthly budget with expenses is shown.
MONTHLY BUDGET
for a family of three
in San Antonio, Texas
{or Rent $870
) Food $550
f4g Child care $375
2015 &% Transportation 5480
STA @ Utilities $400
AR {J Insurance $235
7.13d (Z> Savings $400
¢ Taxes $290
Monthly total
Which equation can be used to determine y, the minimum amount of money a
family must earn to meet the requirements of this budget for one year?
A y=3600x12 C y=3600x4
B y=3600+7 D y=3600+52
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Sue Nowak and her two children are moving from EI Paso to Laredo. Sue Nowak
will earn $2,200 more per year at her new job in Laredo. Based on the chart that
Sue made using an online cost of living tool, what is the annual difference between
the increase in her wages and the increase in cost of living?

Monthly Expenses El Paso, TX Laredo, TX
Housing $567 $623
23. Food $465 $465
7.13d Child Care $827 $827
Health Care $350 $350
Transportation $339 $343
Other Necessities $248 $261
Taxes $-38 $30
A $1,692 B $1,744 C $508 D $2,059
Mr. Juarez opened a savings account with an initial deposit of $560 and will not
2015 | make any additional deposits or withdrawals. The account earns 1% simple
STA | interest. What is the total amount that Mr. Juarez will have in his account at the end
AR | of 3 years?
7.13e
A $168.00 B $56.00 C $565.60 D $576.80
Nicole deposited $2,000 at 6% simple interest. How long will it be before she has
24. $2,600 in her account?
7.13e
A 4yr B 5yr C 6yr D 7yr
Determine the compound interest earned in the following situation. Kiera places
25 $1,000 in a savings account for 2 years earning 4% compounded interest annually.
71 f';e How much interest will she had at the end of two years?
A $80 B $1,081.60 C $1,080 D $81.60
A car dealership offers two types of discounts.
e Discount 1: Take 5% off the original price of a car built last year and then
receive a $3,500 rebate
e Discount 2: Take 10% off the original price of a car this year and then
receive a $1,250 rebate
2015 | A customer is deciding between two cars.
STA e Car R was built last year and has an original price of $25,340.
AR e Car S was built this year and has an original price of $22,860.
7.13f

Based on this information, whch statement is true?

A The customer would pay $19,324 for Car S.
B The customer would pay $24,073 for Car R.
C The customer would pay $21,824 for Car S.
D The customer would pay $23,107 for Car R.
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A smart phone is on sale for $89.95 at Riverside Electronics. Gadgets and More has
the same phone for $124.00, and it is on sale for 35% off. Which store has the better
26. | deal, and how much less does the phone cost at that store?
7.13f
A Riverside Electronics; $11.92 C Riverside Electronics; $0.95
B Gadgets and More; $9.35 D Gadgets and More; $46.55
Matak wants to buy a 50-inch television. He made a table with the four best deals
he has found for the television he wants to purchase. Use the table to find the
difference in cost between the best deal and the worst deal.
Store A Store B Store C Store D
27. Regular price: Regular price: Regular price: Regular price:
$449.95 $685.00 $515.75 $772.50
7.13f —
Take $15 off of Mail in rebate: $85
Mail in rebate: $25 every full $75 spent Coupon: $75 off off
Y P Coupon: $215 off
A $125.05 C $185.05
B $77.50 D $109.25

Use formula chart for all formulas
Use formula chart with ruler on the side
Read the question carefully
Read all four answers
Make sure your bubble matches your answer
Make sure the answer makes reasonable sense
If you have to guess, eliminate answers you know are wrong
Draw a PICTURE!
Take your time — The fastest is not the smartest.
The most difficult questions are in the middle of the test.

Complementary = 90, Supplementary = 180
Triangles = 180 degrees, Quadrilaterals = 360 degrees

75% of the mistakes students make are not because of the math. This is a test of who can read
the problems carefully and who can prove their answers are correct.
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